{ Find each solution in the coded title. Each time it}
| appears, write the letter of the exfi_'c;iaquu_bpye i

EOPED TITLE:

What Is the Tifle of This Pieture?
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) 1lp+ 16 =2p + 7

@ Nine more than four times a number
is the same as one less than twice
the number. Find the number.
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B(x + 2) = 3(x + 8) & oc-1) =9010-4

& 10b — 45 = 3(b ~ 15)
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» 5x+ 9 = x — 23

q+14f—_"=83(q+?)
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&) 12(y + 5) = 13y + 2

Eighty, decreased by three timesa
number, is the same as five times the
number, increased by eight. Find the
number.



